Industrial Revolution Study Guide

Which of the following helped British farmers increase food production in the 1700s?

Which of the following was the most important source of power for the early Industrial Revolution? 

Who is most likely to support the idea that society should be based on cooperation instead of competition?

Adam Smith

Jeremy Bentham

During the agricultural revolution in the 1700s, wealthy landowners increased food production by 

Industrialization in the textile industry resulted in 

How did the factory system change workers’ lives?


Results of the Industrial Revolution are?


Which of the following is not a reason for the population explosion during the 1700s?

One reason why coal was so important to the Industrial Revolution is?

Which of the following events did Marx not anticipate occurring during the Industrial Revolution?


What are the social problems created by the Industrial Revolution?


Benefits of the Industrial Revolution was?


The main people who benefited from the Industrial Revolution were?

Which of the following inventions changed the textile industry?

Concepts:

Urbanization 
Socialism 
Laissez faire  
labor reforms  

ALL Inventors
Why Britain
Positives and Negatives of Industrial Revolution 
